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Aims

To measure the maximum throughput that can be achieved over a wireless LAN and Ethernet link.

Network Diagram

Wireless throughput test
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iperf -s -u

Equipment Specifications
-2 Computers
-Compaq laptop
OS: Window 7 - 32bit
Processor: Pentium Dual-Core CPU 2.20GHz
Ram: 1.00 GB

-A Asus laptop

0OS: Window 7 - 32bit

Processor: Intel Core 2 Duo CPU 2.4GHz
Ram: 2.00 GB


sgordon
Sticky Note
What are the wired and wireless network interfaces of these computers? What technologies do they support/use?


-Router: LINKSYS

Wireless-G 2.4GHz/54Mbps Broadband router , -Ethernet line

Parameters @

Parameter

Description

iperf-c 192.168.1.198 —u —b 54M

“iperf -c 192.168.1.198” = Set a client at
address 192.168.1.198

“-u ”= Set UDP

“-b”= Set limit of bandwidth

“M” = Megabytes

iperf -s -u

“iperf -s” = Set a server that waiting connect
from client
“-u” = Set to be a UDP

Experiments and Results

Experiment 1 - measure the UDP throughput BY WIRELESS LAN ()

From this experiment we test by create someone to be a server and another one is client

and use computer connect to wireless LAN Then, computer that is server will wait for connection

with someone from client by add some bandwidth to be a higher value and each value and graph

will become like the following table:

Connection by: One computer connect with a LAN of router G04, another one connect directly by

Ethernet line

We choose to change Parameter

to:[10,20,30,40,50,60,70,80,90,91,92,93,94,95,96,97,98,99,100,105,110]
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What about other parameters of your experiment? What data rate did you use? What RTS/CTS threshold? ...
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What parameter? What are the units?
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You have the wrong title: this is for Ethernet and the next is for wireless LAN.


Bandwidth Throughput % loss jitter @
10M 10.00 0.0059 2.001
20M 20.00 0.05 0.776
30M 39.80 0.72 0.516
40M 40.00 0.066 0.671
50M 50.00 0.012 0.358
60M 59.80 0.35 0.218
70M 70.00 0.0008 0.241
80M 79.90 0.092 0.214
85M 85.20 0.00069 0.157
90M 90.40 0.092 0.192
91M 91.20 0.00065 0.177
92M 92.60 0.00064 0.188
93M 93.30 0.00063 0.404
94M 94.10 0.00063 0.167
95M 95.50 0.089 0.207
96M 95.60 0.71 0.145
97M 95.60 1.6 0.146
98M 95.70 3.1 0.142
99M 95.50 4 0.916
100M 95.50 5 0.185
105M 95.60 8.9 0.136
110M 95.60 14 0.174
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Figure 1 Throughput @
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Put the results in an appendix and just the plots in the main body of the report. That makes it easier to quickly see the main conclusions. 
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Data Sent - what are the units? Is it amount of data sent in MB or is it sending rate in Mb/s?
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Figure 4 Summary of throughput @
loss and jitter

(by LAN)

Experiment 2 - measure the UDP throughput BY Ethernet
Connection by: Both computer connect with a LAN of router G04, another one connect directly by

Ethernet line

We choose to change Parameter t0:[10,20,25,26,27,28,29,30,31,32,33,34,35,40]

Bandwidth Throughput % loss jitter
10M 10.00 0.047 2.066
20M 20.00 0.0029 0.95
25M 24.9 0.47 0.713
26M 25.9 0.77 0.644
27M 26.9 0.5 0.832
28M 27.7 0.54 0.903
29M 28.7 0.78 1.377
30M 29.6 1.2 0.669
31M 31 0.52 0.438
32M 314 1.7 1.259
33M 314 5 0.409
34M 29.7 11 0.491
35M 30.4 13 1.008
40M 30.8 23 0.771
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Don't combine the three performance metrics onto one plot as it is difficult to compare the different units (seconds for jitter against Mb/s for throughput).


Throughput (Mb/s)

Throughput

35.00
30.00 I —
25.00
20.00 -

15.00 es==Throughput
10.00 -/

5.00

0.00 T T T T T T T T T T T T T Data sent

S 'f?@ '»Q’@ '£\® ﬁ‘ﬁ '»& 'b°® %'§ ”9’@ ”)')’@ ”3§ %67@ S

Figure 1: Throughput
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Figure 3: Jitter
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Figure 4: Summary of throughput jitter and % loss

(By Ethernet)

Conclusion: Throughput for Wireless Lan is 31 Mb/s.

Throughput for Ethernet is 95 Mb/s. @

Percentage of loss will increase as it approach maximum throughput. @
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Ok, so you have obtained the maximum throughputs. Why? Why is Ethernet much larger than wireless LAN? Not just in the absolute values but also as a percentage of data rate?
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